
P-9120B
Page 1
SEP.  2004AIR DRIVEN DIAPHRAGM PUMPS

(¼", ½", 1", 1½" & 2")

19

18
17

16

15
21

22
23

21
25

20

28

27
26

14
11

9

6

1

3

7

13

10
12

8

9

Teflon Diaphragm
Requires O-ring

TEFLON DIAPHRAGM
CONFIGURATION

24

29

2

2

5

Valve Disks
Included

Valve Disks
Included

3

4

5A

Use item 5A in these holes
only Ð Each manifold

1/4" MODEL
Non-Metallic
Serial Numbers 65000 and Above

ITEM DESCRIPTION
QTY PER

PUMP
PART NO. MATERIAL

18
RIGHT CHAMBER
(Includes item 3)

1

71-0715 40
71-0715 42
71-0715 46
71-0715 56

POLYPRO
NYLON

COND-NYLON
PVDF

19 RIGHT MANIFOLD 1

71-0513 40
71-0513 42
71-0513 46
71-0513 56

POLYPRO
NYLON

COND-NYLON
PVDF

20 MUFFLER CAP 1 71-3108 60 POLYPRO
21 O-RING, CAPS 2 71-1909 11 BUNA-N
22 SHUTTLE 1 71-0411 00 SPECIAL
23 SPRING CLIP ASSY 1 75-1000 00 VARIOUS
24 MUFFLER 1 71-3003 SPECIAL
25 AIR INLET CAP 1 71-3109 60 POLYPRO
26 FLAT WASHER 12 71-2300 26 S.S.
27 CAP SCREW 6 71-2517 26 S.S.
28 HEX NUT (1/4" - 20) 6 71-2600 26 S.S.
29 WASHER, TENSION 6 71-2305 26 S.S.

DIAP. ROD ASSY 1 73-9000 00 S.S.

ITEM DESCRIPTION
QTY PER

PUMP
PART NO. MATERIAL

1
LEFT MANIFOLD
(Ports are NPT/BSP compatible)

1

71-0503 40
71-0503 42
71-0503 46
71-0503 56

PLYPRO
NYLON

COND-NYLON
PVDF

2 MANIFOLD, GASKET 4

71-2111 11
71-2111 59
71-2111 24
71-1903 13

GEOLAST
TEFLON
SANTO
VITON

3
VALVE DISC 4 71-1006 59

TEFLON

4 O-RING RETAINER 2
71-1928 17
71-2711 60

TEFLON
POLYPRO

5 SCREW (#8 X 11/4") 16 71-2524 26 S.S.
5A SCREW (#8 X 1")   4 71-2525 26 S.S.

6
LEFT CHAMBER
(Includes item 3)

1

71-0714 40
71-0714 42
71-0714 46
71-0714 56

POLYPRO
NYLON

COND-NYLON
PVDF

7 OUTER DIAPHRAGM PLATE 2

71-1205 40
71-1205 42
71-1205 46
71-1205 56

POLYPRO
NYLON

COND-NYLON
PVDF

8
O-RING, DIAPHRAGM 2 71-0606 23

71-0606 13 

SANTO

VITON

9 DIAPHRAGM 2

71-0604 19
71-0604 59
71-0604 23
71-0604 59

GEOLAST
TEFLON
SANTO

TEFLON
10 INNER DIAPHRAGM PLATE 2 71-1105 25 P.S.
11 DIAPHRAGM ROD (SHORT) 1 ASSY S.S.
12 SCREW (#6 X 1/2") 4 71-2510 26 S.S.
13 SEAL RETAINER 2 71-2710 60 POLYPRO
14 LIP SEAL 2 71-2000 11 BUNA-N
15 INERMEDIATE 1 71-1508 60 POLYPRO
16 DIAPHRAGM ROD (LONG) 1 ASSY S.S.

17 O-RING, MANIFOLD TUBE 2

71-1928 11
71-1928 17
71-1928 23
71-1928 13

BUNA-N
TEFLON
SANTO
VITON

(Included in item 6 & 18. Cannot be ordered separately.)

(This o-ring used with Teflon diaphragms only !)

NOTES! 
     1          S.S. = STAINLESS STEEL;  P.S. = PLATED STEEL;  POLYPRO = POLYPROPYLENE       

Refer to Bulletin P-308, Operating and Service 
Guide O-915


